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B {+ fEe IEVA 2051 3NL Afr 54, 6L HE 8L
Fl =1 12.37 (-2.6)|thFF 1DMB 12.39 (-2.6)|IEIF S E 13.14 (-2.6)|f8H = 13.15 (-2.6)|EH X% 13.84 (-2.6)
INFVEA A 5H15H 60m
NRRLIEEE L AHACJIR REMF>F REE LSS REMTHF
A %A 1151 (1) ZF 1212 (F1.3)|BE 3 1212 (-1.3)| & ¥EH 1218 (-1.3)| 8% #i5K 12.26 (-1.3)|#HA X4 F 12.49 (-1.3)|EE =7 1251 (-1.3)|4EfkE B@F 13.04 (-1.3)
INROEEAL A 5H15H 60m
BEEF/NER KEMTo>F BEEFEL fRAREL REE LSS0 EREL PRREELESST =EfTELESSD
SEMm ERE 17.01 (-0.9)|&R #EK 18.43 (-0.9)|Fi& HFE 18.55 (-0.9)|#BA& #E 18.71 (-0.9)[(EH 7“7xd 18.81 (-2.4)|IEBK #5iD 18.90 (-2.4)|BEA 1ME 19.09 (-0.9)|MgIL “EDOF 19.56 (-0.9)
INFEIEAL A 5H15H 100m
B a=7EL RohREL BEEFEL RO RfE L EEREL =EEELYSD EEEL F#oa=7kEL
BH GLGH 2:10.60|F[E £k 2:16.19|FRIE I 21991 (&K M2 2:26.01 |8 D 2:26.12|ILTF HB% 2:32.94| &R #HK 2:33.89|IEI% MHEF 2:39.86
5H15H 600m
EEREL F#Sa=7REL EFEL EEEL REkEESSD EREREL ROy REL N
=TT 375 16.05 (-1.5)|#%%E BLE 16.28 (-2.4)|f81L KX 16.38 (-1.9)|FBF & 16.86 (-1.6)|#a% FE{K 1717 (-2.4)|#1E =F 17.26 (-2.8)|ILA ZEfE 17.35 (-1.5)|RE =i 17.44 (-1.5)
INRAREAL A 5H15H 100m
RKEMF>F Ko REL EREEL e F#Moa=7kEL RoyhRfEL KEMF->F M a=7kELE
Bl RE 3:39.34[#0F FEK 3:48.47|% £ MZ 3:59.45|E Il EiK 4:00.84 |1k #hRE 40287 5K A 4:27.26|RE £ 4:2920| BB FRE 4:34.70
5H15H 1000m
EEREL BE#Mo1=7kEL ERYYH—RAR—YLEH REE LSS EREEL KEMF>F B a=7REL M a=7kELE
HerRH HBEF 15.15 (-3.0)| K# HEE 15.29 (-3.0)|Riff £ 15.38 (-3.0)|tkiE = 15.82 (-3.0)[{EfE 757% 15.86 (-2.6)|KRiE ZDH 15.94 (-3.0)|[IEE 4B 15.96 (-3.0)[;E& +x 16.06 (-1.5)
INEREEAL A 5H15H 100m
B a=7REL Ko REL e e RO RfEL EREL KEMF->F =ETELESST
iz =2 3:27.15| 2% B3 3:34.31|lUA Fk 3:39.93[;T#E nt 3:47.29|ithk HWE 34737\ B3I BEF 3:49.49|HerH HEF 3:50.35|[A%F HKF 3:50.75
5H15H 1000m
EREREL NRRZE7E & FE L EREEL REE LSS0 EREEL EREREL F#sa=7EL F#Pa=7kELE
i LtE ## w3.62 (+4.1)|HER BARTE w3.39 (+2.3)|FR &M w3.37 (+2.5)|EEF HF 3.36 (+0.9)|7aHE X w3.35 (+2.1)|iE0  BXTE w3.26 (+3.1)| B3I K& w3.13 (4. D[R #Fi w2.80 (+2.7)
5H15H = Bk
EEREL =EfTfELSST =EmTELSSD F#Sa=7ELE EREEL BEE LSS M a=7EL REMF>F
Bl EfR 15.17 (-2.40)|BiE EE= 15.24 (-2.4)| 2@ 1&F 15.24 (-2.4)|BRz HE 15.27 (-2.0)|EF HWEZE 15.63 (-2.4)|F4E ER 15.78 (-2.3)[#AAK BEF] 15.85 (-2.3)|h#f &&= 16.50 (-2.3)
INFOAE AL A 5H15H 100m
Koy hgfE L ROy REL Ry gfE L Ry pRfEL F#oa=7kEL KEMF->F Koy hRiEL F#Pa=7kELE
=)l #ER 3:26.29|FA RAR 3:37.61|F0H %A 3:40.86|AH HEHMHE 3:45.79|=% B 3:55.53|FF A& METE 3:58.84| EFT HE 401.61|ERK ELF 4:07.65
5H15H 1000m
EREREL EEREL EREEL EREEL RERE ESSD F# a=7kEL M 1=7kEL F#Pa=7kELE
HE KB 1.20|80 R %7y 1.10
5H15H 7 bk
RKEMNMF-F REREESST
g SH R 399 (H1.4)|kEE =& w3.52 (+2.7) |1k wIEkTH w3.44 (+2.5)|5EIBF EH w3.27 (+3.6)|BiE BE 313 (H1.9)|EE BiE w3.09 (+3.4)|{8H 1&F] w2.96 (+2.6)|Ez WE w2.44 (+3.6)
5H15H g Bk
F#Sa=7EL F#Ca=7EL EEREL Ky pRpEL KyhRpEL KEMF->F PRREEESST RypRpEE
REMT-F 1:05.43|FA¥Pa=THELE 1:07.98
FR BE RE ERE
INF3 A4S | 5H15H 4x100mR il ks SEME EB
2l EF BIE ¥RE
AR #fE WA ZFEK
FReE B4 15.02 (-2.9)|=M@ 1&F 15.39 (-2.9)[#a A& BAF] 15.99 (-2.0)|Ek BKEHF 18.17 (-2.9)|F AR METE 18.20 (-2.9)| 5K P 18.26 (-2.9)|RHE Hx 18.26 (-29)|1BEE =% 19.18 (-2.0)
N6 AL | 5A15H 80mH
KEMF->F Ko RELE RospRrpEL BFkEL F#Sa1=7kEL KEMF->F EFfEL BEFkEL
KohgfEEA 56.82| K hApELB 57.49| KEMIF>FA 59.94|FAM T =TRELA 59.95|#kMEE LS TA 1:02.21|=ER8TRE LSS TA 1:02.71|;EERELA 1:03.20|FA¥F1=7KELB 1:03.89
BE BE WA BRFI BE X8 BEX ERF Bk B A =D £ ATk g #F
5H15H 4x100mR Hiz HE A+ BE FRE B HErEH BHE A K =ik tik Bi BEF kB =8
BH 1&F k% = HE KB b &F B 1&F =R &M tE BN g
B E& R £ WS i = HE B/E EN EE bz =) #ER SH
B XN 37.88| % BT 29.82|tkBE DE 24968 K 22.74(iT/ ot 20.68|:2IF £iE 18.15|=8 &1t 18.04|% 8 T 15.52
5H15H | ¥ %Ay R = An—
PRREREEOST HRREELESST RREELSSD RREELESSD REkE LSS0 KEMF>F PRRERELESST =EHTfELHSD

w (wind assist) : JBEE#%




